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DS Examf): 2015

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : B-EFUA-O-PDW Test Booklet Series

TEST BOOKLET
ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

10.

. You have to enter your Roll Number on the Test

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll
Number and Test Booklet Series A, B, C or D carefully and without any omission or
discrepancy at the appropriate places in the OMR Answer Sheet. Any omission/
discrepancy will render the Answer Sheet liable for rejection.

Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi
and English. Each item comprises four responses (answers). You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is
more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

. All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the
Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions
sent to you with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer
Sheet. You are permitted to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.
Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i} There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate, one-third of the marks
assigned to that question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even
if one of the given answers happens to be correct and there will be same penalty as
above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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1. What is the remainder when 496 is 4, What is
divided by 6?
5+410
(@) 4 5v5 — 2420 - /32 + /50
(b) 3 equal to?
(c) 2
fa) S
(d 1
(b) 5V2
2. If (c) 5J5
37 5, 1 : (dj V5
13 x+

1

+ —
Y z 5. The digit in the units place of the
product 81x 82x 83 x 84 x---x99 is

where x, y, z are natural numbers,

then what is z equal to? {a) O
(b) 4
fa) 1
(c) 6
(b} 2
(d) 8
c) 3
{d) Cannot be determined due to 6. The square root of
insufficient data
73
©-75) +[0-75+(0-75)2 +1)
1-0-75
3. For what value of k is (x - 5) a factor
of x3 - 3x2 + kx~10? 1s
fa) -8 {a) 1
(b) 4 (b) 2
c) 2 {c 3
(d 1 (d 4
B-EFUA-O-PDW/52A 2
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1. 3¢ 496 =t 6 @ fawifsa frmn s, @) 5+4/10

Suet an 37 4 S/5-2v20- /32 + Y50 e
27
(@) 4
Pl 3 .
(c) 2 (b) 5V2
(@) 1 (c) 5V5
(d) 5
2, Ifg
%—2-& 11
X+—73 5. %A  81x 82x 83x84 x---x99 F
y*s T % T ¥ FF-T a7 27
Wﬁx,y,zmﬂﬁ@ﬁg,?ﬁz%ﬂ% (@ 0
T 87
@ 1 (b} 4
(b) 2 c) 6
fc) 3 (d) 8
(d) AT g9 & wnw Fulfa a8 e
W el
3
6. 075 +[0-75+(0-75)2 +1] F
1-0.75
3. k% frg oH ¥ R x3 -3x2 + kx - 10 e w1 &7
F T TGS (x - 5) 87
(@) 1
fa) -8
(b) 2
(b} 4
€ 2 (€ 3
(@ 1 (dj 4
B-EFUA-O-PDW/52A 3 [P.T.O.
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7. What is the remainder obtained 10. What is the number of possible pairs
when 1421x 1423 x 1425 is divided of (P, Q) if the number 357P23Q is
by 12?7 divisible by both 3 and 5?
(a} 1 (@ 7
(b) 2
(b) 6
c) 3
@ 4 “

(d} None of the above
8. Consider the following statements :

1. The equation 1990x-173y =11

has no solution in integers for 11. The difference between the squares
x and y. of two consecutive odd integers is
2. The equation 3x—-12y =7 has always divisible by
no solution in integers. for
x and y. {a) 3
Which of the above statements m) 7
is/are correct?
c) 8
{a) 1 only (e
(b) 2 only (d 16
{c) Both 1 and 2
{d) Neither 1 nor 2 12. The expression

3,2 3 2 2.2 2
X -x pt+a4x“pt-4x +3xg° - 3xpt
9. A student was asked to multiply g p p q q P

a number by 25. He instead
multiplied the number by 52 and is divisible by
got the answer 324 more than the
correct answer. The number to be

multiplied was {a) (x-1} only
(@) 12 (b) (x-3) only
(b) 15
{c) both (x-1) and {x - 3}
{c) 25
(d) 32 {d) neither (x - 1) nor (x -3}
B-EFUA-O-PDW/52A 4
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7. 1421x1423%x 1425 & 12 @ fawfa 10, AR @@ 357P25Q, 3 3R 5 M ¥
FH T AR FT 27 fawrs 3, @ (P, Q) & Ty Fmi H
T T 87
{a) 1
(b} 2 fa} 7
fc) 3 ) 6
(d) 4 c) 5
8. frfafaa wudl m fmm A (d) 39 & @ H1E T
1. §HERO  1990x -173y=11 @I
xaﬂ'{y%mwﬁaﬁéﬁqﬁ
2l 11. < AT fww gt & I &1 3= g
2. Wi 3x-12y=7 ® x I y e favre 77
¥ form quifet & A5 7 A 21 ¢
{a} 3
I Al § @ FE-g1/A T R/ '
(b) 7
(a) Fad 1
(b) FaA 2 () 8
(¢) 1323 (d) 16

(d) 9@ 13mT&2

12, =<

& fore e Tl WA 3@ HwEm W 25 %

WA W 52 & Tun W fem R s e frsa 27

IW, G2 IW F 324 w9l 91| g @@

! 1om R ST o @’ 27 (@) e (x - 1)

faj 12 (b) A (x - 3

b) 15

() (x-1) 3N (x-3) 3

(c) 25

(d) 32 (d) AW (x-)IRAH (x-3)
B-EFUA-O-PDW/52A 5 [P.T.O.
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13. The difference between compound

interest and simple interest at the
same rate of interest R percent per
annum on an amount of ¥ 15,000
for 2 years is ¥ 96. What is the
value of R?

(aj 8
(b) 10
(€ 12

(d} Cannot be determined due to
insufficient data

14. What is the maximum value of m if

the number

N=35x45x55x60x124 x75
is divisible by 5™?

(a) 4
(b) 5
c) 6
(d) 7

15. A milkman claims to sell milk at its

cost price only, but he is making a
profit of 20% since he has mixed
some amount of water in the milk.
What is the percentage of milk in
the mixture?

(@) 80%
{b) 220%
fc) 75%

B-EFUA-O-PDW/52A

16. There is 60% increase in an amount

in 6 years at simple interest. What
will be the compound interest on
¥ 12,000 after 3 years at the same
rate of interest?

(a) ¥ 2,160
(b) ¥ 3,120
fc) ¥ 3,972
(d) ¥ 6,240
16 litres of a mixture contains
milk and water in the ratio 5: 3. If
4 litres of milk is added to this

mixture, the ratio of milk to water
in the new mixture would be

(faj 2:1
(b) 7:3
fc) 4:3

(d 8:3

18. A person could save 10% of his

income. But 2 years later, when his
income increased by 20%, he could
save the same amount only as
before. By how much percentage
has his expenditure increased?

(@) 22% %

1
b) 23=%
(b) 23

{c) 24 % %o

(d) 25% %
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13. #15,000 & T w 2 a&f & fou 16. foreft ofyt § 6 o6t & w1umm == ©wW 60%

THYS S qUT WU A H, T @ $ 3z o 2 ¥ 12,000 F T,
| QR wiowa aiffs w, #96 @ 3 ut & fou It = R W wwafs =
3= | R 1 A 4T 87 R ET?

fa) 8 {a) T 2,160

(b} 10 (b} € 3,120

c) 12 c) 3,972

(d) FwEE 39 % o Puife T e (d) ¥ 6,240

1 "l

17. 16 it & U fasor & qu 3R urft 5: 3

14. IR @@= % 37gaa § 21 3 38 My A 4 i gy
N=35x45x55x 60x 124 X 75 e e fen s, A 7w Fe & gy
gt ® g = gm?
5™ @ favrew B, @ m &1 3iftehan AF
T 27 fa) 2:1
(@) 4 (b) 7:3
v s ©) 4:3
© 6 A ([d) 8:3
@ 7
18. & AfF AT W F 10% i 997 W
TR foheg 2 a9 AR, S IFH T 20%
15. U gy foshal 78 aran ol @ foh 98 qu & @ T, 79 0 9% vEa Rt & i A
hae | hiAd W 99 @8, g A 9 9 G| 3G 79 Fran wfawa w7
20% T 8 W §, Fifh 364 g4 A 50 27
e # uef fiemn 21 @ feo & qw
fope wftrema &7 (@) 22%%
(a) 80%
1
(b) 23=%
250, 3
b =%
© 242%
(c) 75% 9
200, 24,
@ =% (d) 255 %
B-EFUA-O-PDW/52A 7 [P.T.O.
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19, In how much time would the simple

interest on a principal amount be
0-125 times the principal amount
at 10% per annum?

1

1= years
(a) 27

3
b) 1— years
{b) e
{c) 2—1 ears

4y

(d} 2; years

20. A man rows downstream 32 km and

14 km upstream, and he takes
6 hours to cover each distance.
What is the speed of the current?

{fa) 0:5 km/hr
(b) 1 km/hr
{¢/ 1-5 km/hr

(d} 2 km/hr

21. A car travels the first one-third of

a certain distance with a speed
of 10 km/hr, the next one-third
distance with a speed of 20 km/hr
and the last one-third distance with
a speed of 60 km/hr. The average
speed of the car for the whole
journey is

(a) 18 km/hr
(b) 24 km/hr
fc) 30 km/hr

(d) 36 km/hr

B-EFUA-O-PDW/52A

22,

23.

Two persons

A and B start
simultaneously from two places
¢ km apart, and walk in the same
direction. If A travels at the rate
of p km/hr and B travels at the rate
of g km/hr, then A has travelled
before he overtakes B a distance of

{a) 9€_ km
p+q
) £ km
p-q
) £ km
p-q
(d P km
p+q

For which wvalue of k does the

pair of equations x? —y2 =0 and
(x—k)2 +y2 =1 yield a unique

positive solution of x?
{fa} 2

(b) O

c) 2

(d) -2

24. A person goes to a market between

4 p.m. and 5 p.m. When he comes
back, he finds that the hour hand
and minute hand have interchanged
their positions. For how much time
(approximately) was he out of his
house?

{a) 55-25 minutes
{b) 55-30 minutes
{c} 55-34 minutes
{d} 55-38 minutes
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19, fFft 9w W 10% wited i ® ¥

Ry =S T @ 4 gEeE #@
0-125 THAT § STem?

(a) IZ1 ag
3
(b) 1Z EL

(c) ziaﬁf

3
(d) 2Za§

20. T% afw 32km 8 # fewm ® awn

14 km 4 S fagdia faen # 7@ @1 &
¥R 3 T o A T w § 6
LRI R I A (A

(@) 0-5 km/ =02
(b) 1 km /=92
(¢} 1-5km/9va

(d) 2 km/dve

21. % FW FE g H ugeh wH-feE g

10 km/9vel F I |, T TH-TowTs
T 20 km /921 & A B qUT IRIA
e gt 60 km /v &I 919 @ T
w21 g A # FR A fwa =
w27

{a) 18 km /50l
(b) 24 km /99
{c) 30 km /€

(d) 36 km/TUa

B-EFUA-O-PDW/52A

22. ckm B g0 W g < wEt @ A o B

3 =t v € o & w @ wuy § =
& FA &1 AR A, p km/ave hi T
¥ Jedl § a1 B, g km /9% H 9 °
vl §, 4 B @ M fwe @ wEd A
foeh 2@ o e 7

{a) € xm
p+q

) 25 km
p-q

) -2 km
p-q

[d) < xm
pt+q

23. k % feg wm F fou ofieon

x2-y?2 =03 (x-k)2+y® =1
W, x F T AT YA g am?
(a) 2

(b) ©

) 2

(d) -2

24, & ATk WE 4 3N 5 59 & " TN

ST B S € 9@ 3§, o uren & fR
T2 § fie &) ggat 3w W W
B M W A TR Aq17

fa) 55-25 fiFe
(b) 55-30fime
(c) 5534 fime
(d) 55-38 e

[P.T. O.
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25. The efficiency of P is twice that of Q,

whereas the efficiency of P and Q
together is three times that of R If
P, Q and R work together on a job,
in what ratio should they share
their earnings?

fa) 2:1:1
fb) 4:2:1
fcj 4:3:2

fd 4:2:3

26. In a flight of 600 km, an aircraft was

slowed down due to bad weather.
Its average speed for the trip was
reduced by 200 km/hr and the time
of flight increased by 30 minutes.
The duration of the flight is

{a) 1 hour
(b} 2 hours
{c) 3 hours

{d) 4 hours

27. With a uniform speed, a car covers

a distance in 8 hours. Had the
speed been increased by 4 km/hr,
the same distance could have been
covered in 7 hours and 30 minutes.
What is the distance covered?

(a) 420 km
(b) 480 km
(¢} 520 km

{d) 640 km

B-EFUA-O-PDW/52A

10

28. A runs 1g times as fast as B. If A

gives B a start of 80 m, how far
must the winning post from the
starting point be so that A and B
might reach it at the same time?

{a) 200 m
(b} 300 m
{c) 270 m
(d) 160 m

29. A thief is noticed by a policeman

from a distance of 200 m. The thief
starts running and the policeman
chases him. The thief and
the policeman run at the speed
of 10 km/hr and 11 km/hr respec-
tively. What is the distance between
them after 6 minutes?

fa) 100 m
(b) 120 m
(c/ 150 m
(d) 160 m

30. When a ball bounces, it rises to %

of the height from which it fell. If
the ball is dropped from a height of
36 m, how high will it rise at the

third bounce?

(a) 10% m
(b) 10% m
{c) IQ% m

(d) 12% m
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25. P, Q H Y& I IWAT § HE Fal 8

28. A, BH snen 12 1 W Qe 21 3R B
wefh P 3R Q i R i anan N 3

T ze @ wW w13l feed v
P, Q 3R R firea R, @ I7eh g 4w
form arguma & Hft?

fa) 2:1:1
(b) 4:2:1
fc) 4:3:2

d) 4:2:3

26. 600 km ' U ITH ¥ s U @UE

e & FRO A 8 Smar 31 A % fog
fum it sfga s 200 km /9w #H
A it ? 3 3T w1 gy 30 e W
ST 31 IFH A T srafy @ 37

(a) 190
(b) 29U
(c) 390

(d) 4w

27. T FN gt A HeEH T | 8 uwe

T 7@ Gl 21 ARk 9 # 4 km/Iw
Fg1 fear wmar, @ @@ @ 7 wwe I
30 fire § @ & o1 g off | @9 A wE
ot forerft 27

(a) 420 km
(b) 480 km
(c) 520 km

(d) 640 km

B-EFUA-O-PDW/52A

w1 e fag 4 & omfom fag @
80m M B, A A F It fag @
ey e ) gl Pt g s, arfe
A ¥R B (& @9 W T8 Ig 7

{a) 200 m
{p) 300 m
{c) 270 m
{d) 160 m

29. & qu@ w® IR @ 200m B T W

3@a1 8| IR AT I[® Har g 3R faurd
g fi@1 wtar 81 =R 3 faurdt san
10 km /9921 31X 11 km/=wer $ Tfd @
ard 21 6 e & 918 39 = i gl
et gnfi?
fa) 100-m
(b} 120 m
(c) 150 m

(d) 160 m

30. F e aw 3o 4, e F= g fird

%m%mmwm%mﬁw
¥ R 36m & I9E ¥ Frm W, @

A Al 3BT 1 38 fRat Iw s3?
(@) IO%m
(b) IO%m
(c) IQ%m
(d) 12§m
[P.T.O.
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31. A light was seen regularly at
an interval of 13 seconds. It was
seen for the first time at 1 hour
54 minutes 50 seconds (a.m.) and
the last time at 3 hours 17 minutes
49 seconds (a.m.). How many times
was the light seen?

faj 375
(b) 378
{c) 383
{d} 384

32. An automobile financer claims to be
lending money at simple interest,
but he includes the interest every
six months for calculating the
principal. If he is charging an

interest at the rate of 10%, the
effective rate of interest becomes

(@) 10-25%
(b) 10-5%
{c) 10-75%

d 11%

33. What are the possible solutions for x
of the equation x"r’z = % x*, where

x and n are positive integers?

faj O, n
b 1, n
(c) n, n?
(d) 1, n?

B-EFUA-O-PDW/52A
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34. let A and B be finite non-empty
sets with the number of elements
in A = m and number of elements in
B=n. Let m > n. If for some integer
k 21, the number of non-empty
subsets of A =2% + the number of
non-empty subsets of B, then which
one of the following is correct?

faj m=n+2

(b) m=n+1
{c¢} m=n+p for some odd prime
number p
({df m=n+t for some composite
number ¢
35. If n is a natural number and

n=pip;*py*, where p|, p,, p3
are distinct prime factors, then the
number of prime factors for n is
(a} x;+x5+ X4

(b} x;x,x3

fc) (x)+1}{xp +1){x3 +1)

(d) None of the above

36. Consider the following statements
for the sequence of numbers given
below :

11, 111, 1111, 11111, -

1. Each number can be expressed
in the form (4m + 3), where mis
a natural number.

2. Some numbers are squares.

Which of the above statements
is/are correct?

{a} 1 only

{b) 2 only

{¢) Both 1 and 2
(d} Neither 1 nor 2

Download More Papers From GovtJobsAlert.In


https://govtjobsalert.in/

Download More Papers From GovtJobsAlert.In

31. # vew ufld w5 @ 13 ¥ &

U T 3] AT 3| Il AN IW e
1 S5 54 fire 50 @ o anfied
IR qaE 3 F9aR 17 e 49 T W
I T IW THN H P fhadt AR @
Y

(a) 375
(b) 378
(c) 383

(d) 384

32. T &R fSddvs % e RO aw

IR0 4TS W 99 IUR 1 8, | T8 &
FT A W gEud A e & foe e
=T gftifera o oaT 81 3R 98 10% #
WH N A W R, A AN H I R
1§ et 27

(@) 10-25%
(b) 10-5%
(c) 10-75%

d) 11%

33. gHiew xVX¥ = Yx* ¥, @ x W n

YIRS UITh 8§, x % oY HPE Fd
B-T 7

fa}j O, n
(b 1, n

(c) n, n?

dj 1, n?

B-EFUA-O-PDW/52A

13

35 3% n

34, T vt f& 4 i B ufifim, fiw

YT & ¢ A H q@l 6 §& = m 3R

B # @ # T =n 2l AN WY

m>n ®1 AR BRR qofe k> 1 % fo,

A % I Ivag=l 6t g@a =2k + B

F oftw JwmgeEl A HE,

frafafea & @ F=-a1 v 87

fa) m=n+2

(b)) m=n+1

c) m=n+ p, & o s T
p % foe

{d) m=n+t, fFd a1 9@ ¢ & e

™ o e § R
n=pfp2ps?, W& p;, py, ps i
A THEEE %, A n F AN
TorEvet S g @ 27

(@) x;+x5+x3

(b) xyxpx3

(c) (x; +1)(x, +1)(x3 +1)

(d) ITE A T HE TE

36. &t 11, 111, 1111, 11111, ... %

g & o Feafafad weel @ famm

Hifs

1. Y% G&1 4m+3) F €9 § =W
R S g ], & m T & QI
2

2. Y g@C a1 gl

It YAl § W BH-W/4 |/ B/27
(a) FFA 1

(b) FIA 2

c) 13 23A

(d AR 13dMIA2

[P.T.O.
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37. The HCF and LCM of two

polynomials are (x + y) and

(3x5+5x4y+2x3y2— 3x2y3- Sxy* —2y5)

respectively. If one of the
polynomials is {x? - y2 }, then the
other polynomial is

(a) 3x* -8x3y+10x2y?

+7ch3 —2y4
(b) 3x* -8xy-10x2y>

+7xy° +2y*
(c) 3x*+8x3y+10x2y?

+7xy> +2y*
(d) 3x* +8x3y-10x2y?

+7)<:y3 +2y4

38. Let p be a prime number other than

2 or 5. One would like to express
the vulgar fraction 1/p in the form
of a recurring decimal. Then the
decimal will be

{a} a pure recurring decimal
and its period will Dbe
necessarily (p -1}

(b) a mixed recurring decimal
and its period will be
necessarily (p - 1)

{c) a pure recurring decimal
and its period will be some
factor of (p-1)

(d) a mixed recurring decimal
and its period will be some
factor of (p-1)

B-EFUA-O-PDW/52A

39. Consider the following statements :

1. There exists only one prime
number psuch that (17p+1)is
a square.

2. If x is the product of 10
consecutive prime numbers

starting from 2, then {x+1) is
also a prime number.

Which of the above statements
is/are correct?

{a) 1 only

(b} 2 only

{c) Both 1 and 2

{d} Neither 1 nor 2

40. The sign of the quadratic polynomial

ax? +bx+c is always positive if
{a) ais positive and b? -4ac< 0
(b) a is positive and b?% —4ac> 0

¢/ a can be any real number
and b? —4ac<0

{d] a can be any real number
and b? —-4ac2 0
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37. @ SgUE & HEAW @HIYAde qUl YR 39. frafefad Hurt w fo=aw Hifs

T (x + y) I 1. SO TF @ M AT p H

(3x5+5x*y+2x3y? - 3x2y% - sxy* -24°) AfRE 3@ YER 5 (17p+ 1)
1 2|

&1 AR o A T AT (< -y § 2. R x, 2 ¥ YE EX el 10 FAPE

T T F R FMeE gEs # PEeE 8,

(x + 1) 3t T NTST TS B
(@) 3x*-8x3y+ 10)«:2142

+Txy -2y° st et & 4 A/ T 2/
(b) 3x* -8x3y-10x2y?
+Txy® + 2y (a) &I 1
() 3x*+8x3y+10x2y? (b) FaS 2
+7xy3 +2y4
(c) 132

(d) 3x% +8x3y-10x2y?

+7xy’ +2y*
(@ Far1sRad2

38, TH AR fF p, 2 T 5 F @ HE
TR T 2| Ak g fm o 1/p
aad TeeE % 9 § oIk R g, @ 40, R WgWE ax? +bx+c F T WA
98 TIHEd T g7 YTeH B0, Ifa

(a) T Y& I WHEE AR I (a) q v 2 b2 —4ac< 0

TEdE avEE ®9 H (p- 1) AW

(b) TF Ty ored wwmEE IR I (b} q uATH & 3 b2 ~4ac2 0
Aadh EEF ®9 & (p - 1) W

P PO (c) a ® st awafa® wEm 8 w8

M b2 -4ac< 0
T (p - 1) T FE PHETS &M bT -dacs
(@) T Ty wEd TEwMed SR 3IWH (d) a0 aTEales GE B e
SEdE (p - 1) F1 HE PGS FM M b2 -4ac20
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41. If A, G and H are the arithmetic, 43. There are five parties A, B, C, Dand E
geometric and harmonic means in an election. Out of total 100000
between a and b respectively, then votes cast, 36000 were cast to
which one of the following relations party A, 24000 to party B, 18000 to
is correct? party C, 7000 to party D and rest

to party E. What angle will be

) allocated for party E in the pie
fa) G is the geometric mean chart?

between A and H

{a) 15°

(b} A is the arithmetic mean (b) 54
between G and H {cj 60°

(d} 72°

{c/ H is the harmonic mean
between A and G 44, Out of 532 savings accounts held

in a post office, 218 accounts

have deposits over ¥ 10,000 each.
(d) None of the above Further, in 302 accounts, the first
or sole depositors are men, of
which the deposits exceed ¥ 10,000
in 102 accounts. In how many
accounts the first or sole depositors
are women and the deposits are
up to ¥ 10,000 only?

42. The geometric mean of three
positive numbers q, b, ¢ is 3 and
the geometric mean of another
three positive numbers d, e, f is 4. (aj 116
Also, at least three elements in the
set {a, b, ¢, d, e, f} are distinct. (b) 114
Which one of the following {cj 100
inequalities gives the best

. d C ot be det ined from the
information about M, the arithmetic (@) ann ermt ro

mean of the six numbers? given data
45. If
(@) M>2J3 X+y+z=0
then x3 + y>+z3 4+ 3xyz is
(b) M>3-5 equal to
(@ O
fc) M=23-5
(b) 6xyz
c) 12xyz
(d) Tt is not possible to set any (el Y
precise lower limit for M (d} xyz

B-EFUA-O-PDW/52A 16
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41. e q 3R b+ f9 A, G aW H FAW:

U WA, TR W IR EHF A
%, @ efafen gyl & & F9-7 &
we R7

(@) AR HF &= G PR e R

(b) G 3 HF 9 A =1 WA B

() A3 GH = HguHs e §

(d) 394w § § g T

42, T yATerH @S q, b, ¢ & OUWN

ey 3 2 3t I wETeHs St
d, e, f @ TORK W 4 | VY=
a, b, c, d, e, f} B F-W-F oA
fira et | fFrafafas swfieet 4 |
-8 wF ol ¢ By wEHRl &
W A M % fawa d maww gEn
27

@ M>2J3
() M>3.5
€ M=>3.5

d MHR ®E w-d Fea dm Faa
FAT T TE

B-EFUA-O-PDW/52A

17

45, 7R

43. wF faf=a d A, B, ¢, D 3R E 99 g

#1 2@ T FA 100000 WAl H H A A
# 36000, T B & 24000, T C i
18000, & D i 7000 3 I¥ ¥d <A
E® i 3w & < E & e sF-w
o Fuifa gme

{a) 15°
(b) 54°
fc) 60°

(d) 72

44. T& ST H @ U 532 s9d Tl St

#8218 w@si § @& ® €10,000 @
sftres w1 foew e &1 o R man R T
302 @Rl # wuw @ W@ AHThdt
ey 8, o @ 102 dmmelt i smn
ufimf €10,000 ¥ s #1 fFR
d@reht § yuw a1 AR SWehd Afger §
aor ST ORTET Fad @ 10,000 7% &7

(@) 116
(b) 114
{cj 100

(d) Ru e ew gu Puffe 58 fem s
Hahdl

x+y+z=0 2, al
x3 +y® + 2% + 3xyz Formss aTeR 37

fa) O

(b) 6 xyz
{c) 12xyz
(d) xyz

[P.T.O.
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46. If three metallic spheres of radii 6 cm,
8 cm and 10 cm are melted to form
a single sphere, then the diameter
of the new sphere will be

fa) 12 cm
(b) 24 cm
{c) 30 cm
{d) 36 cm

47. If each interior angle of a regular
polygon is 135° then the number of
diagonals of the polygon is equal to

(aj 54
(b} 48
{fcj 20
(d) 18

48. The sides of a triangular field are
41 m, 40 m and 9 m. The number of
rose beds that can be prepared in
the field if each rose bed, on an
average, needs 900 square cm
space, is

fa) 2000
(b) 1800
{c) 900
(d}) 800
49. The ratio of the outer and inner
perimeters of a circular path is

23 : 22. If the path is 5 m wide, the
diameter of the inner circle is

fa) 55 m

(b) 110 m
{c) 220 m
(d) 230 m

B-EFUA-O-PDW/52A

50. A cylindrical vessel of radius 4 cm
contains water. A solid sphere of
radius 3 cm is lowered into the
water until it is completely
immersed. The water level in the
vessel will rise by

fa) 1.5 cm
{b) 2 cm
fc) 2:25 cm
{d) 4-5cm
51. If the height of a right circular cone
is increased by 200% and the

radius of the base is reduced by
50%, then the volume of the cone

{a) remains unaltered
(b) decreases by 25%
{c) increases by 25%
{d} increases by 50%
52. The angles of a triangle are in the

ratio 4 : 1 : 1. Then the ratio of the
largest side to the perimeter is

2 1
@ 2 ) 5o

J3 2
© i @ T

53. Let a, b, c be the sides of a right
triangle, where ¢ is the hypotenuse.
The radius of the circle which
touches the sides of the triangle is

(a) (a+b-c)/2
(b) (a+b+c)/2
fc) (a+2b+2c)/2
(d) (2a+2b-c¢)/2
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46, HﬁGcm, 8cmaﬁ"{10cmﬁwaﬁa’|€1‘

1 s Mel ) fUede & men
TR HC, O AT e T AT 7 Y

50. 4 cm B9 9@ TF SRR ad4 8

21 3 cm B A o 39 M T A
IAWT ST & 5" o {6 9 [ @ € W
3 9| Wdd # 9t w1 w® fea §g

fa) 12 cfn
smgm?
(b) 24 cm
fa) 1-5cm
{c 30 cm
(b) 2 cm
{d) 36 cm
{c) 2-25 cm
47. aR Frh @ agE @ TRE A (@) 4:5cm
QS;?%’ﬁ“ﬁW%Wﬁm 51. aR wF T v B 9 200% T
' & MW e Ia YR FH B 50% HH
a) 54

F R T, A W UG 1 AEAA

(b) 48 (a) Smafafda war @

fc) 20 (b) 25% FH B Tl

(d) 18 (c) 25% 9@ Il 3
(d) 50% &g e 8

52. Th B & W 4:1:1 % I A E
i ) g € g F gfem @

48. w Benia @ & g9 41m, 40m
3 9om & | @a A Taw H e
FfEl dan it w1 TR €, AR TRE

et FH H 3fEa 900 & cm H 37
STE Y ATavaeRdT &7 A

@ 2 (b) —
fa) 2000 3 2+43
(b) 1800 J3 2
(cj 900 (e 2+3 (@) 1+/3
(d) 800

53. A <ifrg fr & g fige & s
a, b, c & & c #f B 3| g A
e, st B R qeed @ ol

49. TH FW Y F SIRQ @1 Ml i
&1 o 23:22 ¥ AR 9y 5m =

2, dt T gu F1 AW T 87 2, ¥ 87

(a) 55 m (a) (a+b-c}/2

(b} 110 m (b) (a+b+c)/2

(c) 220 m (c) (a+2b+2c)/2

(d) 230 m (d) (2a+2b-c)/2
B-EFUA-O-PDW/52A 19 [P.T.O.
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54. The area of the largest triangle that
can be inscribed in a semicircle of
radius r is

(a) r?
(b) 2r?
(c) 3r2

(d) 4r2

55. AD is the diameter of a circle and
AB is a chord. If AD= 34 cm,
AB=30 cm, the distance of AB
from the centre of the circle is

{fa} 17 cm
(b) 15 cm
fc; 13 cm
{d) 8 cm

56. If a star figure is formed by
elongating the sides of a regular
pentagon, then the measure of each
angle at the angular points of the
star figure is

{a) 36°
(b) 35°
fc) 32°
(d) 30°
§7. Four equal-sized maximum circular
plates are cut off from a square

paper sheet of area 784 square cm.
The circumference of each plate is

{a) 11 cm
{b) 22 cm
fc; 33 cm
(d) 44 cm

B-EFUA-O-PDW/52A

58. Iftan(A+ B)=+/3 and tanA = 1, then
tan{A - B) is equal to

@) 0

(b) 1

(c)

al-

(d) 2

59. If the radius of a sphere is increased
by 10%, then the volume will be
increased by

{a} 33-1%
(b) 30%
fc) 50%
(d) 10%
60. ABCD is a parallelogram, where
AB : AD=2: 1 One of the angles of

the paralielogram is 60°. The two
diagonals are in the ratio

faj 7:3
(b} J7:J3
{c) 7:35

{d) None of the above
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54, r Frew a9 @ rdgn H T @R W

HoB AT e B 1 SEea w4 37
(a) r?
(b) 2r?
(c) 3r?

(d) 4r?

55, freht 99 %1 4@ AD ® R 3@ @& S

AB 2| 3fé¢ AD =34 cm, AB=30cm,
A 9 H % ¥ AB H gt Fraedt 37

{ad) 17 cm

{p) 15 cm

{c/ 13 cm

d} 8 cm

56. IR TF TH TS A Y F T W

W ar I A @ Rl g, @ A R
agfa & wwfg frget = yd@% ®m A
19 1 87
(@) 36°
(b) 35°
(c) 32°
(d) 30°

57. 784 T cm %A 9 TH FHR SIS

F U3 & § TF IR i 9R ¥ ¥ ¥
T X Fre T P I ¥ o
wie ) qftfa @ 27

faj 11 cm

(b} 22 cm

{cj 33 cm

(d) 44 cm

B-EFUA-O-PDW/52A

58. IR tan{A+B) =3 3 tanA=1%, @

tan(A - B) fras ster 87

(@) O

b) 1

(c)

al-

(@) 2

59, If% & M H B 10% 91 & Y, @

g A a1 9@ STEm?
(a) 33-1%

(b} 30%

(c) 50%

(d) 10%

60. ABCD T ®AR =g« 8, @

AB:AD=2:1%| GO gy & &
F0 60° ¥ TERR TgET F AT faehol
forg arguma # &7

{fa) 7:3
(b) J7:43
fc] 7:5

(d) 394 8 [ FE T

[P.T.O.
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61. Consider the following statements :

1. Let D be a point on the side
BC of a triangle ABC. If area of
triangle ABD = area of triangle
ACD, then for all points O on
AD, area of triangle ABO = area
of triangle ACO.

2. If Gis the point of concurrence
of the medians of a triangle
ABC, then area of triangle
ABG=area of triangle BCG
= area of triangle ACG.

Which of the above statements
is/are correct?

(a) 1 only
{b) 2 only
{c) Both 1 and 2

{d) Neither 1 nor 2

62. If cosA=tanB, cosB=tanC and

cosC = tan A, then sin A is equal to

L If

3-tan? A

=K
1-3tan? A

where K is a real number, then
cosec A(3sin A - 4sin> A)is equal to

(@) ——=
(b} ——, where %SK <3

{c) T where K<é or K>3

(d)

64. The angles of elevation of the top of a

tower from two points P and Q at
distances m? and n? respectively,
from the base and in the same
straight line  with it are
complementary. The height of the

J5-1 tower is
(a)
4
(@) (mn)'/2
p 52
(b) mnl/?
() ‘/34‘1
{c) m!/?n
() J3-1
2 (d) mn
B-EFUA-O-PDW/52A 22
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61. F=fafas sut w fer Hifv Gs,qfewdc &t K T Ity

1. W difm 5w Bye ABC # 1-3tan” A
YT BC W D @& farg ?1 3Rk S TET 8, @ cosec A(3sinA-4sin® A)
ABD & &% = P& ACD forh ser 37

g3%cT, M AD T et forgedt O &
fo, fiyw ABO 1 da%a = fiyw

ACO %1 &% | (a) I?—Ifl
2. Il o Bgs ABC i miftymeit

v /g 6 8, @ B ABG o N

F &% = e BCG 1 dmw (b) o TS SK<3

= Bt ACG &1 @t |
T T R Q- w2/ (c) ——KQI_{I,GETK<%EITK>3
(a) FIA 1

| 2K

(b) HFA 2 @ 7 ‘
(c) 13 23M

[d AR 1IMAE2

64. P 3R Q @ forg wsh dFR & amum A

62. 4R cosA=tanB, cosB=tanC 3R wa: m? i n? A @ R & & T
cosC = tan A, @ sin A fras stEr 87 @ W R g IR & I &, Pk O
q, IFE U TE g HAR R FE
(a) ‘/g_l ERIT%?
4
1/2
J5-1 @ {mn)
(b) 5
(b) mnl‘/2
J3-1
(c) y
fc) mi/?n
J3-1
(@ 2 {d) mn

B-EFUA~-O-PDW/52A 23 [P.T.O.
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65. The angle of elevation of a cloud from
a point 200 m above a lake is 3(°
and the angle of depression of its
reflection in the lake is 60°. The
height of the cloud is

68. Consider the following :

cos A sinA
l-tanA 1-cotA
=sinA+cosA

(@) 200 m 2. {l1-sinA-cosA)?
(b) 300 m =2(1-sinA)(l1+cosA)
(c} 400 m Which = of the above is/are
identity/identities?
(d) 600 m
{a) 1 only
66. If (b} 2 only

tanA+cotA =4 (c/ Both 1 and 2

then tan* A +cot? A is equal to (d) Neither 1 nor 2

{a} 110
69. ABC is a triangle right angled at
(b} 191 B and AB:BC=3:4. What is
. . . 5
(c) 80 sin A +sin B+ sin C equal to:
(d) 194 (@) 2
11
67. If bl 5
1-sinx 1-sinx COS X {c] 12
P=\T—— g= » I = : 5
l+sinx Cos X l+sinx
then which of the following is/are (dj 3
correct?
1. p=g=r 70. The value of
2. p2 =qr

cosec? 67° + sec? 57° —cot? 33° - tan? 23°
Select the correct answer using the

code given below.

{a) 1 only

(b} 2 only

fc) Both 1 and 2
(d) Neither 1 nor 2

B-EFUA-O-PDW/52A

1S

fa) 242
(b) 2
(c) 2
{d) 0
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65. T W& ¥ 200 m IW o & fag & 68. fafafad W fo=m il

forelt see &1 3999 FW 30° § 3N IEH ) cosA , sinA
i # wfafera &1 @@ o 600 B " 1-tanA 1-cotA
IR H TS T 27 =sinA+cosA
2. (l—sinA—cos.A)2
{fa) 200 m
=2(1-sin A)(1+cos A)
(b) 300 m
I & | FH-91/A qTEHE B3
{c) 400 m
(@) Fad 1
(d) 600 m
(b) HIA 2
66. IfT tanA+cotA=4, a (c) 1 ¥R 2 3
tan* A + cot* A oo ser 87 (@ Fdm1MmId2
{a) 110
69. ABC W @ ®, S B W @M
(b) 191 s ¢ 3R AB:BC=3:4 2l
{c) 80 sin A + sin B + sin C frgs sqat 87
(d) 194 (a) 2
11
67. ) 5
_ ’l—sinx _l-sinx __ cosx 12
P=yTvsine ¥ Tcosx ' l+sinx (©) 5
@ frafofaa & @ FR-31/3 = &/87 @ 3
p:q:r
2. p2 =qr
70. cosec?67° + sec? 57° —cot? 33°
o g T w F W W FE TN ~tan? 23°
|
I 1 9 41 87
had
(@) : (@) 22
(b} HaA 2 ) 2
(c) 13 2aH © 2
(d) ad1smad2 (d) 0
B-EFUA-O-PDW/52A 25 [P.T.O.
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71. Consider the following statements : 74. Consider the following statements :

1. There exists at least one

1. There exists no value of x such
value of x between 0 and kid r

that
which satisfies the equation
sin* x-2sin? x-1=0. 1 n
——=44+2J3, O<x<=
2. sinl-5is greater than cosl-S. 1-sinx V3 2

Which of the above statements
is/are correct? s
2. sinx=3%""* does not hold

fa) 1 only good for any real x.
(b) 2 only
(c) Both 1 and 2 Which of the above statements
{d) Neither 1 nor 2 is/are correct?
72. From the top of a tower, the angles of @ 1 only
depression of two objects P and Q
(sittated on the ground on the
same side of the tower) separated (b} 2 only
at a distance of 100(3-+/3) m are
45° and 60° respectively. The height () Both 1 and 2
of the tower is
(a) 200 m (d) Neither 1 nor 2
(b) 250 m
{c) 300 m
(d) None of the above 75. A triangle ABC is inscribed in a
circle. If sum of the squares of
73. If sides of the triangle is equal to
sinx+cosx=c twice the square of the diameter,
.2 .2 .2 .
then sin® x + cos® x is equal to then  sin® A+sin® B+sin®C s
equal to
1+ 6¢2 - 3c?
(@ ———— 6
(@) 2
) Lt 6c? - 3¢*
% (b) 3
1+6c2 +3c?
(c) —————
16 (c) 4
(@ 1+ 6¢? +3c*
4 {d} None of the above
B-EFUA-O-PDW/52A 26
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71. T=fataa wuat w famm fifew

1. oaﬂtg%aﬁaxmw-ﬁ—m@

A e ® 8, S g
sin4x—251n2x—1=03ﬁw
F 2

2. sinl-5, cosl-5® 5% |

IR FE § B HE-T1/R T g/

(a) I 1

(b) FTA 2

c) 132

(d) TA 1A 2

72. Tt fR 6t & @ T od | Rm @

Tt P AR Q &, Fe R A g0
100(3-v3)m ®, AR % fmm &
JTETHA B0 HAY: 45° AW 600 &1 HAR
H 9K T 87

fa) 200 m
() 250 m
{cj 300 m
(d) 39w & A w1 TE
73. Qﬁsinx+cosx=qﬁsin6x+cossx
Tras sUe 37
1+ 6c% - 3¢*
(a) 1
1+ 6¢2 —3c*
p) = Y
(b) 2
1+ 6¢2 +3c?
{c) T
1+ 62 + 3c*
(d) —

B-EFUA-O-PDW/52A

74. Trafafas sut w e fifse

1. x % Bl 0@ um w1 orfdaea 7dl 2
&S

1
l-sinx

=4 +243, 0<x<g

2. sinx = 3%0° % fret off IR x
% fore my & @

I FYA § F BE-T/E T 2R
(@) &F9 1

(b} FaS 2

(€ 1322t

(d) Iq1smad2

75. e ABC Tt gu % sl dfen T

(3rpTees) 31 A Fngst &1 sferett & =l
F oAm @ F o W A g, @
sin® A +sin? B+sin? C fegs sus
27

{a) 2

(b} 3

(c) 4

(d) ST A W FIE T

[P.T.O.
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76. The area of a rhombus with side
13 cm and one diagonal 10 cm
will be

{aj 140 square cm
{b} 130 square cm
{c) 120 square cm

(d) 110 square cm

77. Two circles, each of radius r, with
centres P and Q, are such that each
circle passes through the centre of
the other circle. Then the area
common to the circles is less than
one-third of the sum of the areas of
the two circles by

J3r?
(a) 7
V3r?
(b) 3
J3r?
(c) 5
(d) J3r?

78. A sphere and a cube have same
surface area. The ratio of square of
their volumes is

(@ 6:m
(b) 5:m
¢ 3:5
(@ 1:1

B-EFUTA-N-PNW/52A

79. The radius of a sphere is equal to the

radius of the base of a right circular
cone, and the volume of the sphere
is double the volume of the cone.
The ratio of the height of the cone to
the radius of its base is

(g 2:1
(b) 1:2
fc) 2:3

d 3:2

80. Water flows through a cylindrical

pipe of internal diameter 7 cm at
the rate of S m/s. The time, in
minutes, the pipe would take to
fill an empty rectangular tank
4mx3mx2-31m is

(a) 28

(b) 24

fc) 20

(d 12

81. The total outer surface area of a right

circular cone of height 24 cm with a
hemisphere of radius 7 cm upon its
base is

{a} 327n square cm

(b) 307nr square cm

{c) 293n square cm

{d) 273m square cm
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76. T wragyds =1, Fel & 13 cm 3R 79. & T H e el eragda Tg *

% fawet 10 cm R, dawa e gm? 3R & B F g @ o e @@
HTTAA, TF & I H A § | TF H
@) 1401 cm 3o F1 3@ anuw A Ben } e
(b) 130 a1 cm F R
() 120 @t cm (@ 2:1
(dj 110 @ cm (b) 1:2
fc) 2:3
77. @ g1 %, A w3 it B r 2, w2 (d 3:2

PR Q% yd% gu q@ T F FR ¥
A AT 1 QA gA W IEEE
A%, aH JEl & SFbal b A F 80. 7 cm i =il =G drell UH STHTHRR

- frere & Rea 9 37 Tt @ ot 5m/s H Tl | FE@ 2
4mx3mx2-31m el TF FAER
J3r? @relt 2 Y A § 31 el F1 e e
@ = 7
(b) «/EYQ (a) 28
3 (b) 24
o 312 (c) 20
2 d 12
(@) J3r?

81. % oaqd Nig &1, fEh $918 24 cm
2 i RrgF MR W 7 cm B w1 @&
e R, $ 9@ JEE EEEe e

78. TF M 3 T T % YHA ST T 37

£1 37 TaAl % T A1 I FT 87
(a) 327n & cm

fa} 6:m

) 5:n (b} 307n M cm

fc) 3:5 {c) 293n Tt cm

(d 1:1 (d) 273n @ cm
B-EFUA-O-PDW/52A 29 [P.T.O.
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82. The last digit in the expansion of

17256 is
(@ 9
(b) 7
(c) 3

(d 1

83. A rectangular block of wood having

dimensions 3mx2mx1-75m has
to be painted on all its faces. The
layer of paint must be 0- 1 mm thick.
Paint comes in cubical boxes
having their edges equal to 10 cm.
The minimum number of boxes of
paint to be purchased is

(@) 5
(b} 4
{c) 3

(d) 2

84. The diagonals of three faces of a

cuboid are 13, ¥v281 and 20 linear
units. Then the total surface area of
the cuboid is

fa) 650 square units
{b) 658 square units
{c) 664 square units

(d) 672 square units

B-EFUA-O-PDW/52A

85. A rectangular paper of 44 cm long

and 6 cm wide is rolled to form a
cylinder of height equal to width of
the paper. The radius of the base of
the cylinder so rolled is

fa) 3-S5 cm
(b) 5 cm
{c) 7 cm

{d} 14 cm

86. If a-b=4 and a2 +b? =40, where

a and b are positive integers, then
a® +b° is equal to

(a) 264
(b) 280
(c] 300

(d) 324

87. The sides of a triangle are 25 cm,

39cm and 56 cm. The perpen-
dicular from the opposite vertex
on the side of 56 cm is

(@) 10 cm
(b) 12 cm
f¢) 15 cm
(d) 16 cm
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82. 17256 & wam # wifam oim w1 37
(@) 9
(b) 7
€ 3

[d 1

83. 3mx2mx1-75m fmRl a& w
AIAHER THE! o TUE & TR I8 &l 92
FE 21 U= & W 0- 1 mm A B &
GT%QI 32 10 cm frmt It =R
fesal # aman 31 W= F FH-R-HW Faq
fesa @R s =nfgu?

(a}l S
(b} 4
{c/ 3

(d@) 2

84. TF ¥AM % diF g8l & fawol 13, 4281
3t 20 UwGT TR F T T B FA
gy gk fa 87
(a) 650 T THIR
(b) 658 = 3HTE
(c) 664 T THTS

(d) 672 I 3FE
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85. T HEAHR FIW HY, GEH =R

44 cmm 3R R 6cm B, MA (TA)
T FHUH H WISE & qeR Ha18 el
A AT FGT1 1 59 YRR ST T o
F aur A Frean @ 7

{a) 3-5cm
(b)) 5 cm
fc} 7 cm

{d) 14 cm

86. It a—b =4 3 a2 +b? =40 B, @

a 3R b gAeEE Qs §, @ ad +b°
forass s B7

{a) 264
(b} 280
{c) 300

(d) 324

87. W g I ymd 25 cm, 39 cm 3R

56 cm 81 56 cm # Y W wAEE I
Q wve fora 27

fa) 10 cm
(b} 12 cm
{c/ 15 cm

(d} 16 cm

[P.T.O.
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88. The diagonals of a trapezium are

at right angles, and the slant sides,
if produced, form an equilateral
triangle with the greater of the two

91. If the angle between the radii of

a circle is 130° then the angle
between the tangents at the ends of
the radii is

parallel sides. If the area of the

trapezium is 16 square cm, then fa) SO° (b) 70°

the distance between the parallel

ides i

sices 18 c) S0° @ a0

fa} 2 cm

{b) 4 cm

(¢ 8 cm 92, lLet OA, OB, OC and OD are rays

in the anticlockwise direction
such that ZAOB=ZC0OD =100,
£ZBOC = 82° and LAOD = 78°.
Consider the following statements :

(d)} Cannot be determined due to
insufficient data

89. From a circular piece of cardboard of
radius 3 cm, two sectors of 40° each 1.
have been cut off. The area of the
remaining portion is

AOC and BOD are lines.

2. 4ZBOC and
supplementary.

ZAOCD are

{a) 11 square cm
Which of the above statements

(b) 22 square cm :
is/are correct?

{c} 33 square cm
{d) 44 square cm () 1 only
(b} 2 only
90. Three equal circles each of diameter
d are drawn on a plane in such a
way that each circle touches the
other two circles. A big circle is
drawn in such a manner that it
touches each of the small circles
internally. The area of the big circle

is

{c) Both 1 and 2

{d) Neither 1 nor 2

93. At 8:30, the hour hand and the
minute hand of a clock form an

(@) nd? angle of
(b) nd?(2-+3)? (a) 80C°
o nd? (V3 +1)2 (b} 75
2
70°
@ MAZB+2)7 “
12 (d) 60°
B-EFUA-O-PDW/52A 32
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88. UH YN o ool gl W & IR Afe

e i fods yeett @l @gmn S, @
T g s # ¥ 9 el oS &
iy wheg s & S g1 oAk
guere &1 &9%d 16§ cm @,
uR et & e A gt e 7

{a) 2 cm
(b} 4 cm
{c/ 8 cm

(d) 9ats == & Frw Fulfa & & s
Gehdl

89. 3 cm B 9 T T % T gHS @

40° @ @ Bg-wre = 9@ g 9N
& &1 g% =1 B?

fa) 11 @t cm
) 22 Tf cm
(c) 33 atcm
(d) 44t cm

90. U §HAA W dH TR Jq, TF d =4

aTell, 39 YR & TR S § TR v g
I 2 gal B @l HA B T TSI A
34 vHR @ dien s R a8 v s8R
9 B =i @ Y T FwaT 2GS
g9 H A6 1 27

(@) nd?
(b} nd?(2-3)?

nd? (/3 +1)?

(c) 5

nd? (V3 +2)?

{d) 13

B-EFUA-O-PDW/52A

91. IR w gu H B & d= 1300 #

0 3, @ Bl & B w el -t

F g & v A 27
(@) 90° (b) TO°
(c) 50° (d) 40

92. WA sy 0A, OB, OC 3 OD amrEd

fem # @ wer f fadl 2 O
ZAOB= £COD = 100°, /BOC = 82°
3t 2A0D = 78° ?| Frafafiaa womt w
ﬁﬁ'ﬂﬁﬁf‘l:

1. AOC 3R BOD @ %]

2. ZBOC 3N ZAOD G{® &
I sl # @ FE-w/A ad 3/30
(@) FFE 1

(b) F 2

c) 13 23

(d) Fd 132

93. TF U # 8:30 &=, g i g3 3N e

1 g 1 Aoy SR F7
fa} . 80°
(b) 75
(c) 70°

(d) o0°

[P.T.O.
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94. The complement angle of 80° is

radian

(@)

radian

18
n
Sn

b_
(b) 9

I
18
9
5n

radian

(c)

radian

(d)

95. Consider the following statements :

1. If non-parallel sides of a
trapezium are equal, then it is
cyclic,

2. If the chord of a circle is equal
to its radius, then the angle
subtended by this chord at a
point in major segment is 30°.

Which of the above statements
is/are correct?

(a)
(b} 2 only

1 only

fc) Both 1 and 2
(d} Neither 1 nor 2

96. Out of two concentric circles, the
diameter of the outer circle is 26 cm
and the chord MN of length 24 cm
is tangent to the inner circle. The
radius of the inner circle is

fa) 5 cm
{b) 6 cm
fcj 8 cm

(d)

10 cm

B-EFUA-O-PDW/52A
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For the next four (4) items that follow :

Consider the following frequency
distribution :

Class Frequency

0-10 4

10-20 5

20-30 7

3040 10

40-50 12

50-60 8

60-70

97. What is the mean of the distribution?
{a) 37.2
(b} 38-1
{c) 39-2
{d) 40-1

98. What is the median class?
{a) 20-30
(b} 30-40
(¢ 40-50
{d) S50-60

99. What is the median of the

distribution?
(a) 37
(b) 38
{c} 39
(d} 40

100. What is the mode of the distribution?

(@)
(b)
{c)
(d)

38-33
40-66
42.66
43-33
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94. 80° T [h HU 1 §7 AT M ATH =R (4) Ty &% e :
@) %Sﬁ‘gzm Frafafga serar sved w famm fifve .
it ATCARAT
(b) %E}\’%aq 0-10
10-20
() lﬂ_szﬁqq 20-30
30-40 10
(@ 9 W _ 40-50 12
Sn 50-60 8
60-70 4

95. fafafiga st w famm fifse .

L af el - - 97. SUZH ] A F1 &7

* TR 3, A 98 oo 9E B (a) 372
2. R et g9 B o e B & (b) 381
. e 2, A 4 wve % Rt g ) 39-2
38 Sfta g et Fiw 30° 31 (d) 40-1
It weAl § § HH-a/A wd /80 98, wifeE af w37
@) ¥ 1 (@) 20-30
b
. (b) FaA 2 ) =070
(c) 40-50
(c) 132 am (d) S50-60

@ a1 RAH 2 99, sueA ) Aifedren 1 7

{a) 37
96. 3 HWh4l T A @, 9@ IW W AW (b) 38
26 cm 2 M 24 cm @ ST MN, © 39
AR g | el g1 a=aie ga & (@ 40
Frem | 27
(@) 5cm 100. 27 F TgH 1 87
b) 6 cm (a) 3833
(b) 40-66
() 8 cm c) 42-66
. {d) 10 cm (d) 43-33
’ B-EFUA-O-PDW/52A 35 [P.T.O.
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WS A ATYHRT T 0T Yieaet Wied &Y 7 el WU 99 7% 7 @it

&4t €. : B-EFUA-O-PDW TeTur giedant STqeRa

Y &1

102893 H‘ﬁ&TUTE%F:‘m

gRiTes i

a9y : B "o quites : 100

. T Thum g | @y B Rw U A § el s

AFIA

. TR Y B % GO W1, I 3H udternr gitae Y uswe ey W fo 3w e o, we

G FI YB Nl WyAW g A w1 afy v R, A 3@ wd wdhieor giemwr | @gd )

. FUAT AW @ R OMR sw-ua A, 3fua o W, U Tt 3 vfierm gierest sgsa A, B, C @

D &I, v ¥ v fam et g% o fmnfa & s ok geag w0 &t Feigrlt sofiqar &t @3 fedht
ot yar Y g /faunfy f ol 4 sw-ues frm = e som)

g o 31 Wam gfem w st g 7 fad)

. 38 gl gfede d 100 ey (ww) R e #) v gwin R ofv sl <F d sw R wRs wEam o

TR g () fow g B | T A o IR W g7 A, R o swews ® sifwa w9 2 At s
g o R uh @ s gerr wd 2, @ 38 oW ) oifhRd R S U waten of | Seis TWm & fau
Haet T & TR g1 B

. e I wft wegat e ¥ iy Mo swewrd W@ sifwd w0 ) sw-ws § fa o e s
. aft wET & 3% e 2
. T TEd f5 o whew yfem & fafe q@iwl F OO SW-UAE W OifRd 1 YE R, SR TEW

TE-UR % A1y A Rl % Igan 39 faam sw-we # 3 R

. 9 3 B G ) IW-UAR B W F 916 aUl WD F TG I hadl SW-UAE i & €Y 3

R AR TwY e g A S A oagEf R

. FR FW & AU o e gfeam & = & dom 3
10.

T 3w & fore e

FEgAE wvE-uAl # Iufgan g fiw wo ea T & o gue g wmom

(i) v WA % fog 9R i s § 1 Iwdiean s uaE v & fo fw e ww e Iw # fow w3
Fra TR 7 31t w1 ww-fagrE gve & w0 d @ S

(i) afe #§ Irfiean o ¥ Afasw 3T 3@ R, 9 W THE I A S, gl fir T s A @ v W ad
2 B, f6 oft 39w\ & forg sudegan @ 3 e @ v fe smom)

(iii) 3l 3Iefiear g0 X w7 T R e R, a7l Iefiear gr 3w € e s 2, @t 39w\ & fau
=g Tog 7 e smom

A TE IS qg T YRR W H A F@ AQ a9 qH A G

Note : English version of the instructions is printed on the front cover of this Booklet.
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